Hess’s Law Worksheet

(1) Determine the heat of formation of liquid hydrogen peroxide at 25°C from the
following thermochemical equations.

H, (g) + % O, (gl — H,0 (g) AH = -241.82 kJ
2H(g)+ O (g) — H,O (g) AH = -92692 kJ
2H(g)+20 (gl — H,O,(9) AH = -1070.6 kJ
20 (g) — O, (9) AH = -498.34 kJ
H,0, (I) — H,0, (g) AH = +51.46 kJ

Calculate the AH for the reaction: Cu (s) + 1? O, (g) — CuO (s)

Given the following information:

CuO (s) + Cu (s) — Cu,O (s) AH = -11 kJ/mol

2 CuO (s) — Cu,0O (s) + % O, (g) AH = +115 kJ/mol
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Answers

(1) Determine the heat of formation of liquid hydrogen peroxide at 25°C from the
following thermochemical equations.

H, (g) + % O, (g — H,0 (g) AH = -241.82 kJ
2H(g) + O (g) — H,O (g) AH = -92692 kJ
2H(g)+20 (gl — H,O,(g) AH = -1070.6 kJ
20 (g) — 0O, (g) AH = -498.34 kJ
H,0, () — H,0, (g) AH = +51.46 kJ

We need to know AH for the following reaction: H, (g) + O, (g) — H,O, (I)

H, (g )+—o —>/9/(g AH = -241.82 kJ
/Z@/() —>/H’() 9// AH = +926.92 kJ
;u/+/®(/) — 1,079 AH = -1070.6 kJ
-1, —>/(»( AH = +24917 kJ

<{g) — H,O, (I) AH = -51.46 kJ
H, (g) + O, (g) — H,0, (I) AH = -187.79 kJ
Calculate the AH for the reaction: Cu (s) + 1? 0, (g) — CuO (s)

Given the following information:

CuO (s) + Cu (s) — Cu,O (s) AH = -11 kJ/mol
2 CUCH(s) —> CLLD (E] ¥ % O, (g) AH = +115 kJ/mol
CuO (s) + Cu(s) — %@é) AH = -11 kJ/mol
Cy@Ts)+ - O, (g) — 2 CuO (s) AH = -115 kJ/mol
Cu (s) + % 0, (g) — CuO (s) AH = -126 kJ/mol
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